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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Give the most suitable definition of Economics and

critically analyse it.

       

 

2. What is consumer’s Surplus ? Explain it with the help

of indifference curves.

        



3. Define Iso-product/Quant Curves. How does they differ

from indifference curves ?

      


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4. What do you understand by perfect competition ?

Explain in detail the various conditions of perfect

competition. What is the difference between perfect

competition and pure competition ?





 

5. Critically examine the Marginal Productivity theory of

Distribution.

  



Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 
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1. Define welfare economics.



2. Explain the law of demand. What are the exceptions to

this ?

        



3. Explain the concepts of Marginal Physical Product

(MPP), Marginal Value Product (MVP) and Marginal

Revenue Product (MRP).

(MPP),(MVP)

(MRP)

4. Define the relationship between Total Utility and

Marginal Utility with the help of a diagram.





5. Review the different types of costs.



6. Write the meaning and characteristics of oligopoly.


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7. Examine the ‘Loanable Funds Theory of Interest’.

 

8. How are profits determined under dynamic conditions ?

Explain clearly.



**************


